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OouMdgell g8 2494l 14,000
o2ZE EE22HMAE 5,000,000& * 14! 5,000
oM&E 2Y 1,500,000& * 62l 9,000
405 XHobF S HI 15,000
01 XAt 2 ZFH S| 15,000
OJIM & 2s&FH +
15,000,000& * 14 15,000
Kegeld #A 2l 30,000 30,000
307 21201 A 30,000 30,000
04 RIZIAHAtE X S 30,000 30,000
OouAdgel &AL 2Zdl 30,000,000& * 14 30,000




NETRrEEE YIS T PNER !
M MU (BsL22/H=)
©el: H2HS 84 (B9 ®R)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
S0l =2 24| 22,000 20,000 2,000
307 gl2tol & 22,000 20,000 2,000
04 QIZHHAIE X = 22,000 20,000 2,000
OIS0l =32C 29| 22,000,000& = 14l 22,000
S4FE2Y 539,483 529,083 10,400
301 et d = 529,483 519,083 10,400
V=t - 2RSS 529,483 519,083 10,400
Os4F =20 339,000
SRNEDN; 40,000,000& » 1Y 40,000
ocEgd=> 45,000,000& = 194 45,000
oA == 38,000,000& * 5% 190,000
oBzd 32,000,000& = 29H 64,000
oxs+¢ 38,400
oBtEAF 12,000,000& * 14l 12,000
ocEEXNZ 6,000,000& = 14! 6,000
o=JHE =% 6,000,000& * 14! 6,000
ocgdsd 12,000,000 = 14l 12,000
SPNE=E =, 2,400,000 * 14l 2,400
S| 6,000,000& * 14! 6,000
O4l 2= 55,443
o30AI = 339,000,000& * 4.5% 15,255
ocHLUEEE 339,000,000& * 2.82% 9,560
cRABHEE 9,560,000& = 6.55% 627
clNEEEE 339,000,000& * 1.95% 6,611
cNMTMEESZ 339,000,000 * 1% 3,390
cEXNRES 5,000,000& = 49YH 20,000
O8 29l 45,540
o8 Xtg s 2,500,000& * 14! 2,500
o MAlE&EH 13,000,000& * 14 13,000
olfsl &AHI 13,000,000& = 14l 13,000
o 24X 24l 3,240,000& * 14l 3,240
cEHES P 3,000,000 = 14l 3,000
oIl =l 10,800,000 * 14 10,800
Og=s4a 29| 43,100
o g4l 30,000,000& * 1A 30,000
o 2HAlH| 5,500,000& * 14! 5,500
o2 2,000,000& * 14! 2,000
o232 300,000& = 12& 3,600
oS ZFH 1,000,000 = 14 1,000
oM EZFHI 1,000,000& * 14l 1,000
O&gE 3l 2,000,000& = 13 2,000




S(EH) - HEAMY - BES 0 4t o4 il
405 XHoHF SHI 10,000
10,000
10,000,000& * 14 10,000
320,619
313,619
313,619
ER 180,000
o X & Xt 40,000,000& = 14 40,000
ocEZHx 45,000,000& = 1H 45,000
oA N 38,000,000& * 1Y 38,000
oBZ & 32,000,000& ~ 19H 32,000
SIH=Fas 25,000,000& » 1¥ 25,000
oxs=Y 34,400
o bt A S 12,000,000& * 14 12,000
o SHEIAMZ 2,000,000& = 14 2,000
o=xmJIEsE 6,000,000& * 14 6,000
ozda4d 12,000,000 * 14] 12,000
oX& ¢ 2,400,000& * 14 2,400
O==H| 5,600,000& * 14 5,600
oxs842 18,819
o=mdA=Z& 180,000,000& * 4.5% 8,100
ocHdUBE = 180,000,000& = 2.82% 5,076
ocMIQLUEE = 5,076,000 * 6.55% 333
ocllE8EEHE 180,000,000& = 1.95% 3,510
oMIEE = 180,000,000& * 1% 1,800
(@)= ESE-g=ga= 5,000,000& =* 39 15,000
O8 294l 29,600
oc=d2dH| 2,000,000& * 14 2,000
oXdX E&H| 5,000,000& * 14 5,000
oz &b 9,000,000& * 14 9,000
o 2 AKX 2| 1,800,000& = 14 1,800
oEHEE FUI 5,000,000& * 14 5,000
o Il =H| 3,000,000& * 14 3,000
o &Hl 28ty 2,800,000& = 14l 2,800
o &Hl |XH| 1,000,000& = 14 1,000
Ogl=4 29 29,200
SR=Eai]l 17,000,000& * 14 17,000
o 2HAH| 3,000,000& * 14 3,000
o 2dH| 1,500,000& * 14 1,500
oA ZH| 350,000& * 63 2,100
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AHE 1,000,000& = 14! 1,000
405 XHo&HF S HI 7,000 7,000
01 AIMNLEEFHS 7,000 7,000
OIN XM &dl 2 7,000,000& * 14 7,000
OleiIEHEE2Y 143,512 143,512
Bt At 136,512 136,512
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olegrel =0 77,000
o553 | 45,000,000& * 1Y 45,000
oBz & 32,000,000& *» 1Y 32,000
2E 9,800
o g I At 2,500,000& = 14 2,500
oEYILAZ 2,000,000& = 14l 2,000
o=m Il E= 500,000& * 14 500
oEdHsY 4,800,000& * 14 4,800
O==| 2,240,000 * 14 2,240
OAxERES 8,052
oxRldZz s 77,000,000 * 4.5% 3,465
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ocMIQLUEE = 2,172,000& * 6.55% 143
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o=d 29| 2,500,000& = 14 2,500
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o332 2,400,000& * 14 2,400
ocMEg2E 1,000,000& * 14 1,000
OAHE 3| 1,000,000& = 14 1,000
A S B 7,000 7,000
A2 7,000 7,000
J| XETH &Hl 2 7,000,000& * 14 7,000
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A H= 2A HsEaEl
HEeEds (222 /=)
d2H=E |4
- _ — d =
22N B SA(HN) - NRAY - BYS Ol &t o e
dXEdE X2 10,000 10,000
307 gl2tol & 10,000 10,000
04 DIZtBHAR X 2 10,000 10,000
O&Xzsgd X& 10,000,000& * 14 10,000
=2 &3 5 -0 =708 N 120,000 120,000
307 glz2tol & 120,000 120,000
04 RIZIHAIE RS 120,000 120,000
Os2Ull &= 5,0 E=2U3
120,000,000 * 14 120,000
eI d=2 WA 510 572U= 75,000 75,000
307 gl2tol & 75,000 75,000
04 RIZHHAIE RS 75,000 75,000
OF&| ¥=320A 5,10 =7U3
75,000,000& = 14! 75,000
S2UJ S8 =i E203 XA 75,000 75,000
307 21201 A 75,000 75,000
04 RIZIHAIE X S 75,000 75,000
OSLUI SE d=0T 57U
75,000,000& = 14! 75,000
ANZEI A= g -4 & 40,000 40,000
307 21201 A 40,000 40,000
04 QIZIHAIB XS 40,000 40,000
OAZEI d=2EHd 2 =Uza
40,000,000& * 14! 40,000
clE Ok E tHal &t 5,000 5,000
307 21201 A 5,000 5,000
04 BIZtHAIE RS 5,000 5,000
OclE Ok & tHal &It 5,000,000& = 14! 5,000
JIet =2 72 U3 XN 20,000 20,000
307 21201 A 20,000 20,000
04 QIZtHAIZB X3 20,000 20,000
OJIEt ¥=212 s XA
20,000,000& = 14l 20,000
M9 ZJAZLM=USE &It & ofeta X 290,000 290,000
307 21201 A 290,000 290,000
04 BIZtHAIE XS 290,000 290,000
OXM49al ECIMA ZHIot L o &Hal
290,000,000& * 14 290,000
ZEEAEUNSEHE 0 XA 25,000 25,000




A= IS 2A HsEaEl
M MU (BsL22/H=)
ol HEHS S4 CER-ED
224 ZB SN - HRAY - BES 0l &t o il Bl RE2
307 glz2tol & 25,000 25,000 0
04 QIZtHAIE X = 25,000 25,000 0
OZRAET 2EFMAE &It 25,000,000 * 14 25,000
H23s 23 9 OtetE tHal &It 8,000 0 8,000
307 eIzl & 8,000 0 8,000
04 QIZtHAIE RS 8,000 0 8,000
OHM23sl LA AAMOIAELNS
8,000,000& 14! 8,000
JIEt & »#=2 e XA 30,000 35,000 A5,000
307 glz2tol & 30,000 35,000 A5,000
04 QIZtHAIE X = 30,000 35,000 A5,000
OJIgt ER2 UalXI& 30,000,000 = 14l 30,000
H193] =S AWM ZHI| U3 2,500 2,500 0
307 21201 A 2,500 2,500 0
04 QIZtHAIE XS 2,500 2,500 0
OM193 =S AW I U2l
2,500,000 * 14 2,500
H19sl OF* &2 &EIl thal 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
04 DIZHALR X 2 8,000 8,000 0
OM193 OFE2&J U2
8,000,000& * 14! 8,000
H7el ZEAEI s=ZUHe 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 QIZtHAIE X = 5,000 5,000 0
OHM7al AIZEI 2E03 5,000,000& * 14! 5,000
H7sl ZEAEI 44U 10,000 0 10,000
307 glz2+ol & 10,000 0 10,000
04 QIZtHAIE XS 10,000 0 10,000
OM7al ZEAEI FaU
10,000,000& * 14 10,000
Hezl ZSANFI BHAZ U3l 10,000 0 10,000
307 gl2tol & 10,000 0 10,000
04 QIZtHAIE X = 10,000 0 10,000
ORMe6zl ZEANHEI HAZ U3
10,000,000 * 14 10,000
2014 sHAEE 2|1 20,000 15,000 5,000
307 21201 A 20,000 15,000 5,000
04 QIZHHAIE X = 20,000 15,000 5,000




A= IS EM HsEAEL
M MU (BsL22/H=)
ol HEHS S4 CER-ED
AR SA Y- SAEA) - HRAY - BES 0l &t o il HimES
02014 sHAEEZ D 20,000,000 * 14 20,000
JIEH Al 2 O3 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 QIZtHAIE XS 15,000 15,000 0
OJIEt A2 T3l 15,000,000& * 14 15,000
M58 ZJAZXAMI = -5 44U 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QItHAIE XS 5,000 5,000 0
OHM1538 ZRASTXAI =,5 44U
5,000,000& * 14! 5,000
H158 ZJAZ XA =L U3 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 BIZHHAIE RS 5,000 5,000 0
OHM153 ZAS XA =S U3
5,000,000& 14! 5,000
H18al ZJAZXIAMI =22 U3 2,000 2,000 0
307 glz2+ol & 2,000 2,000 0
04 QIZtHAIE XS 2,000 2,000 0
OHM183l LRATXAI 23
2,000,000 * 14l 2,000
M208 ZJEXAMI SEU3 2,000 2,000 0
307 gl2tol & 2,000 2,000 0
04 QIZtHAIE X = 2,000 2,000 0
OHM2038 ZATX A 2= 3
2,000,000& * 14 2,000
M193 ZJASXIALD| EHAS CHal 2,000 2,000 0
307 21201 A 2,000 2,000 0
04 QIZtHAIE X = 2,000 2,000 0
OM1938 ZJEZXAD HAEAZUS
2,000,000& = 14! 2,000
M208 ZREZXAI BEU3 2,000 1,500 500
307 21201 A 2,000 1,500 500
04 QIHAIE RS 2,000 1,500 500
OHM203 ZJASXAD B2EU3
2,000,000& * 14 2,000
H263 ZRAZXAI 2ZU3 2,000 1,500 500
307 21201 A 2,000 1,500 500
04 BIZtHAIE RS 2,000 1,500 500
OHM263l ZAST XA 23
2,000,000 * 14 2,000




A EF SN HSZAED
M MU (BsL22/H=)
ool MR2HS S4 CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
ZRASXAE & 243 OIAHZA Ad2Uia 1,000 1,000 0
307 gl2tol & 1,000 1,000 0
04 QIZHHAIE X = 1,000 1,000 0
OZ RS XA & 243 OIAHZE SLUH3
1,000,000& * 14 1,000
MEHSSH 1,138,954 1,039,670 99,284
J| 196,975
< 70,686
Al 871,293
MEH =3 K 61,000 61,000 0
307 21201 A 61,000 61,000 0
02 2B AEXS 61,000 61,000 0
OdEN=3 RSl 1,000,000& * 128 12,000
OMEBRSS NTH22aY
13,000,000 * 14 13,000
OdEM=3 HERAH L 22/l
6,000,000& * 14! 6,000
OSIEHIUX T HEBAMIS NI A
30,000,000& * 14l 30,000
e X = X & XHoH X 218,592 176,640 41,952
J| 109,296
Al 109,296
307 gl2tol & 218,592 176,640 41,952
J| 109,296
Al 109,296
02 QIZtFAEXZ 218,592 176,640 41,952
OMEMsX Xt B XI 218,592,000& = 14l 218,592
J| 109,296
Al 109,296
HEdd=8skd 97,152 88,320 8,832
J| 48,576
Al 48,576
307 glz2+ol & 97,152 88,320 8,832
J| 48,576
Al 48,576
02 2HFAEXS 97,152 88,320 8,832
onzd Msgs N Xt BiXl
97,152,000& = 14l 97,152
J| 48,576
Al 48,576
AEZFHIRH™ AEAY 51,240 51,240 0
J| 35,868
= 7,686
Al 7,686
301 et a = 51,240 51,240 0




M ox
40 5 4

3=
5 (25223/
S84

- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
Pl 35,868
& 7,686
Al 7,686
01 Al B & A 46 2 51,240 51,240 0
OAZX HIRH AIY 51,240,000& * 14! 51,240
Jl 35,868
= 7,686
Al 7,686
MEH= S2HXE 6,470 6,470 0
J| 3,235
Al 3,235
307 QI2t0| & 6,470 6,470 0
J| 3,235
Al 3,235
02 QAN EXZ 6,470 6,470 0
OMe=s 22X 6,470,000 = {14 6,470
J| 3,235
Al 3,235
MEHssd 2HHH| 10,000 10,000 0
202 o4 H| 9,000 9,000 0
01 2L HI 9,000 9,000 0
OAZZ0IHEY BHALEX
3,000,0008 » 3H4 9,000
203 R F & 1,000 1,000 0
03 AIZH =& 25X H| 1,000 1,000 0
OAZX[0IANE EL2F&X 1,000,000& = 14l 1,000
MEsoz ) dHeSA 22,000 0 22,000
& 11,000
Al 11,000
307 2izto| A 22,000 0 22,000
& 11,000
Al 11,000
02 It A X2 22,000 0 22,000
OMEN=E® T2 &4 22,000,000& = 14! 22,000
o 11,000
Al 11,000
MEHYEDNARSA 24,000 0 24,000
= 12,000
Al 12,000
307 QI2t0| ™ 24,000 0 24,000
& 12,000
Al 12,000
02 2AAMNEXZ 24,000 0 24,000
OdMeEl=swnas 2N 24,000,000 * 14! 24,000
= 12,000




A2 HBER SN HSEAED
M MU (BsL22/H=)
ool MEISSAY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
| Al 12,000
Hi12el ZEQE &= ZH &FUHE 25,000 20,000 5,000
< 10,000
Al 15,000
307 gl2tol & 25,000 20,000 5,000
< 10,000
Al 15,000
04 QIZtHAIE X = 25,000 20,000 5,000
OM128 GNQE H=Z0HQ EFHE
25,000,000 * 14 25,000
S 10,000
Al 15,000
K262l Lo & =HILIANZ 11,000 11,000 0
307 21201 A 11,000 11,000 0
04 QIZHHAIE X = 11,000 11,000 0
OHM265 Lol & =H L A2
11,000,000 * 14 11,000
H13a 8IMEE AU 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 IZFHAIE XS 15,000 15,000 0
OM133 M3Itx &32U3
15,000,000& = 14l 15,000
H103 ZZH d=HESE 3 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 BIZtHAIE XS 20,000 20,000 0
OXM102 B M=HEE 2l
20,000,000 = 14l 20,000
2014 230U d=28424 =7 U3 150,000 150,000 0
307 glztol & 150,000 150,000 0
04 QIZtHAIE XS 150,000 150,000 0
02014 E3UJ d=2K44E FEFUI
150,000,000& * 14l 150,000
Hi2el 2 2ctd Ual 60,000 35,000 25,000
< 30,000
Al 30,000
307 glz2tol & 60,000 35,000 25,000
< 30,000
Al 30,000
04 QIZtHAIE X = 60,000 35,000 25,000
OHM128 g2t Hal
60,000,000 = 14! 60,000
< 30,000
Al 30,000




A= HHHII
Bu: NSUS(SILD/MS)
Sel MEHSSY

AR SA Y- SAEA) - HRAY - BES 0l &t o il HimES
M14g] ZZBCHE A3 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
04 DIZHHANE XS 3,000 3,000 0
OHM148 ZEUHICIE =S U3
3,000,000& * 14 3,000
K128 ZEHICIOI2tE & 45,000 45,000 0
307 21201 A 45,000 45,000 0
04 QIZHHAIE X = 45,000 45,000 0
OHM 123 ZHEUICIOI2IE &
45,000,000& * 14 45,000
b5z clMaH s d=22UAFH 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 BIZtHAIE XS 10,000 10,000 0
OHNbel =moMeX s E=22AFH O
3 10,000,000 = 14l 10,000
ZEEY *=+28 320X 22 U3 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
04 QIZtHAIE XS 5,000 5,000 0
OUYRAC 2428 39X 223l
5,000,000& 14! 5,000
JIet 21203 XA 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
04 QIZtHAIE X = 30,000 30,000 0
OJIEt ¥32 72 s XI& 30,000,000 * 14 30,000
X173l Hi 204 3 2,500 2,500 0
307 21201 A 2,500 2,500 0
04 BIZtHAIE RS 2,500 2,500 0
OHMI172l BH2CH=l 2,500,000& 14! 2,500
H21al dEd=0s 1,000 1,000 0
307 21201 A 1,000 1,000 0
04 RIZFHAIE XS 1,000 1,000 0
OHN21al MMz 1,000,000& * 14! 1,000
K152 =02 3,500 3,500 0
307 gl2tol & 3,500 3,500 0
04 DIZHAANE XS 3,500 3,500 0
OHM153 =703l 3,500,000 = 14 3,500
M158 BHERIE T3l 2,000 1,500 500
307 glz2tol & 2,000 1,500 500




NETRrEEE YIS T PNER !
o NSNS (SHLBY/HS)
©e MEHSSY (29l 8)
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
04 RIZHHAIE RS 2,000 1,500 500
OHM 153 BHESIHE 3 2,000,000 = 14 2,000
H153 WA 3ctold sl 2,000 2,000 0
307 glz2tol & 2,000 2,000 0
04 QIZtHAIE XS 2,000 2,000 0
ORMI152] THei=ctolg =l 2,000,000& * 14! 2,000
M2538 HOIE=Z U3 2,500 2,500 0
307 21201 A 2,500 2,500 0
04 QIZFHAIE RS 2,500 2,500 0
OHMI253 AHOIE=Z U3l 2,500,000 * 14l 2,500
K26z WEZ Ual 1,000 1,000 0
307 gl2tol & 1,000 1,000 0
04 QIS AR X 2 1,000 1,000 0
OHM263 MEZ Hal 1,000,000& * 14 1,000
M3z E§+0al 2,500 2,500 0
307 g1zl & 2,500 2,500 0
04 RIZIHAIE RS 2,500 2,500 0
OHMI14al €03l 2,500,000& * 14 2,500
M14s HILIA CHE 2,500 2,500 0
307 21201 A 2,500 2,500 0
04 QIZIHAIB XS 2,500 2,500 0
ORMI153 HILIA THal 2,500,000& = 14! 2,500
H63 oFRUI(=RR2) 1,500 1,500 0
307 21201 A 1,500 1,500 0
04 RIZIHAIE X S 1,500 1,500 0
OHM6zl OF2CHZ 1,500,000& * 14! 1,500
M3zl =disl 1,000 1,000 0
307 QI2+0I & 1,000 1,000 0
04 DI A2 X 2 1,000 1,000 0
OHM3sl =4disl 1,000,000& * 14! 1,000
H53 ZA3 1,500 1,500 0
307 glz2tol & 1,500 1,500 0
04 RIZIHAIE RS 1,500 1,500 0
OMb5al E& U3 1,500,000 = 14l 1,500
H4sl XEA U3l 1,500 1,500 0
307 21201 A 1,500 1,500 0
04 QIZtHAIB XS 1,500 1,500 0




AERRTEETE SN HSHAED
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ool MEISSAY CER-ED
AR SA Y- SAEA) - HRAY - BES il Bl RE2
OHM4sl [AEA U3l 1,500,000 = 14 1,500
H153 M3 1,500 1,500 0
307 glz2+ol & 1,500 1,500 0
04 QIZtHAIE XS 1,500 1,500 0
Ox153 51Uzl 1,500,000& = 14! 1,500
JIEt &2 U3l 10,000 7,000 3,000
307 21201 A 10,000 7,000 3,000
04 QItHAIE XS 10,000 7,000 3,000
OJIEt E12 U3l 10,000,000& * 14 10,000
M5zl ZSEACLMEMNSUS 80,000 80,000 0
307 2201 A 80,000 80,000 0
04 DI AR X 2 80,000 80,000 0
ONb5el ZEANUUEMSU
80,000,000& * 14 80,000
M7l 2RSS 24,000 20,000 4,000
307 21201 A 24,000 20,000 4,000
04 QIISA R X2 24,000 20,000 4,000
OHM7sl A= M=U3
24,000,000& » 14 24,000
A2 ZoHetHal 4,000 0 4,000
307 21201 A 4,000 0 4,000
04 BIZtHAIE RS 4,000 0 4,000
OARE Zoiel tal 4,000,000& = 14! 4,000
JIEH ZOHTHE 22,000 20,000 2,000
307 21201 A 22,000 20,000 2,000
04 QIZHHAIE = 22,000 20,000 2,000
OJIE ZoHe!l thal 22,000,000& = 14 22,000
2014 ZRATH=dME =3 12,000 12,000 0
307 glz2tol & 12,000 12,000 0
04 QIZtHAIE X = 12,000 12,000 0
O0M4LJTHEAMMEMSUE
12,000,000 * 14 12,000
I AAREH U3 7,000 10,000 A 3,000
307 gl2tol & 7,000 10,000 A 3,000
04 QIZHHAIE £ = 7,000 10,000 A 3,000
OdI st TtEA e 7,000,000& * 14 7,000
d=2Z=ERSE d=30s &t 5,000 5,000 0
307 glz2tol & 5,000 5,000 0




M ox
40 5 4

— (=4
HIE (2L 22/H=K)
dHssd

2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
04 RIZHHAIE RS 5,000 5,000 0
OX=ZSE<sE d=3Us &t
5,000,000& * 14 5,000
2tE AOIEE U=l &It 2,000 2,000 0
307 glz2tol & 2,000 2,000 0
04 RIZHHAIE XS 2,000 2,000 0
O23 HOIEE sl &It 2,000,000& * 14 2,000
CoMETSHE 50,000 0 50,000
307 glz2tol & 50,000 0 50,000
04 RIZIHAIE RS 50,000 0 50,000
OLlMe=sal 50,000,000& = 14l 50,000
JIEF THal XI& 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZtHAIB XS 20,000 20,000 0
OJIE tal K& 20,000,000 * 14 20,000
2014 Il eEHs AASAESIEI| HLA HE K 12,000 0 12,000
B
307 glz2tol & 12,000 0 12,000
04 RIZIHAIE RS 12,000 0 12,000
OHILIA tHal Jh=l 12,000,000 = 14 12,000
HMFIIBtAI L &= 1,749,540 2,118,700 A 369,160
350,000
60,000
150,000
1,189,540
=23 Fl 40,000 40,000 0
401 Al HIZ 201 8] 40,000 30,000 10,000
01 A& HI 40,000 30,000 10,000
OF2FEUAR 152 &3
40,000,000& » 14! 40,000
dUHAEEX MESAL2H 145,540 494,200 A 348,660
201 L2l 50,540 59,200 A 8,660
01 At 22l 31,340 40,000 A 8,660
OMSAELEUH BERIAES
10,000,000& * 13l 10,000
OANERA £ 2258 2  6,340,000& * 14 6,340
OMSAIZEH &Hl 2x  15,000,000& * 14 15,000
02 23224l 19,200 19,200 0
O332gHI(ZE7& ,Z4% =Y HIIes
160,000& » 100H2 = 123 19,200
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401 Al HIZ 201 Y| 95,000 435,000 A 340,000
01 A& HI 95,000 435,000 A 340,000
OZEA EFE 0F2 ZEER EXSAM
60,000,000& * 14 60,000
OXMESAE E(7HA)
35,000,000 * 14 35,000
SHSHSANE X € E= 200,000 360,500 A 160,500
401 AIEHI L 201 200,000 360,500 A 160,500
01 A& Hl 199,000 358,500 A 159,500
OAlI&HI 199,000
czUHMSEAE WM 2 A4
159,000,000 * 14l 159,000
ocSUMSAE RAE A
0,000,000 14 40,000
03 Al S THHI 1,000 2,000 A 1,000
OAl &2 HHI 1,000,000 = 14l 1,000
HFIEAIZ&tE 283l 4,000 4,000 0
202 (44l 3,000 3,000 0
01 SLHOIYI 3,000 3,000 0
OXMSAE gR=2 1,000,000& = 3% 3,000
203 YR =&l 1,000 1,000 0
03 AIHZ=XH R =ZH| 1,000 1,000 0
OMSIENLE=S RFA
1,000,000& = 14! 1,000
SHEE 2d A E =33 x4 200,000 30,000 170,000
401 AIEHI L 2] 200,000 30,000 170,000
01 A& Bl 200,000 30,000 170,000
OMsSZd TAZeHE HA
200,000,000& » 14 200,000
ZEAUNMSZ BIE DM A 200,000 0 200,000
J| 60,000
Al 140,000
401 AIEHI L 20 200,000 0 200,000
J| 60,000
Al 140,000
01 A& HI 199,000 0 199,000
OZEAUMS2 BIE WM S A
199,000,000& * 14! 199,000
J| 59,500
Al 139,500
03 Al 2 0HHI 1,000 0 1,000
OZSEAUMS2 BtE UM SA AIERUHI
1,000,000& * 14! 1,000




A2 HBER SN HSEAED
Hu: NSNS (SHUDZ/HS)
ol MISIIUAI A S ER-ED
= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t
Jl 500
Al 500
ZEUSHAHER ZAT AXSA 200,000 0 200,000
< 100,000
Al 100,000
401 Al HI & 28I 200,000 0 200,000
< 100,000
Al 100,000
01 A& 8l 199,000 0 199,000
ZENSAHCT ZAE XS A
199,000,000 * 14 199,000
< 99,500
Al 99,500
03 Al 2 THHI 1,000 0 1,000
OZSMEMIHT Zo4H EXSA AR
=l 1,000,000& * 14l 1,000
< 500
Al 500
Ot s HOIEESE EXSA 100,000 0 100,000
< 50,000
Al 50,000
401 Al I 28I 100,000 0 100,000
< 50,000
Al 50,000
01 A& HI 99,000 0 99,000
O ES HNOESE X 3A
99,000,000& * 14l 99,000
= 49,500
Al 49,500
03 AIZ SR THHI 1,000 0 1,000
Ot s AHOEEFE XS A AIERUHI
1,000,000& * 14l 1,000
= 500
Al 500
FESStw 23 AXEL ZdZA 660,000 0 660,000
= 350,000
Al 310,000
308 AHXIEHHSOIA 660,000 0 660,000
= 350,000
Al 310,000
06 WSII20Het2x= 660,000 0 660,000
OZZESstl 28 AXNO ZdSA
660,000,000& * 14 660,000
& 350,000
Al 310,000
SEMSAE 2l 302,000 592,000 A290,000
SEXNsAME XA 302,000 592,000 A290,000
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= 2M I HEFEAED
25 2 S (MIASX /0 - FAaE)
24N

o

SA-EB .S (H) - MRAY - B O 4t o8 il
SEEFEER L ERE
35,000,000& * 14 35,000
OFAHE 2829 I& 20,000,000& = 14l 20,000
HAGdLd2 29 296,903
101 2121 4| 135,857
04 JIZtHI22XNSE S 135,857
o2gExX 31,673
ollza 42,000 * 29 = 230< 19,320
oFE4Y 42,000 * 299 x 46 3,864
SRS NS, 42,0008 = 29 x 11¢ 924
o Al2Hel 4 g
7,880& * 40AI12F = 2"¥ « 12&8 7,565
OFAE 17,949
ocllza 47,6003 *= 1Y = 230 10,948
oFELY 47,600 * 19 x 46 2,190
oA Xt 47,600& * 198 » 11¢ 524
o NZ2tel =& 8,930 * 40Al2t = 128 4,287
oOxsRY2 907
ocllEHEHE 17,947,600& * 1.95% 350
o THEE S 17,947 ,600& * 3.1% 557
OFAE X T A 69,668
ollga 1,620,000& * 39 » 128 58,320
oAe 4
7,880& * 40Al2t = 3H * 128 11,348
OA=EELZ2 (AU T AL 8,379
ocllgH&8s 69,668,000 * 1.95% 1,359
optTHEE & 69,668,000& * 3.1% 2,160
SESESE= 10| 1,620,000& * 39H 4,860
OL=ELY S (HEAEBIXI XIS AF) 3,921
o=xR0AHAZ = 22,000,000& * 4.5% 990
ocAUEEHE 22,000,000& = 2.82% 621
ocMINQULE= 621,000 * 6.55% 41
cllEEEE 22,000,000& = 1.95% 429
optTHEE & 22,000,000& * 1% 220
o ElAZ N 1,620,000 * 14! 1,620
OJI2tM 22X €2 A 3,360
SIIZEMIZ22 X E2 A |
7,000& * 8% 60 3,360
B2 A Y| 102,546
AP 2t el HI 24,440
Ogst=2H| 20,320
oMEEESFY 100,000& * 12& 1,200
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ool HAUSY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OF=EN = PNE=PNINE= R 500,000& * 49 2,000
401 Al HIZ 201 8] 27,000 80,000 A 53,000
01 Al gl 27,000 80,000 53,000
OBAESYZ WBL DA
20,000,000 = 14l 20,000
OFAEASB ASES HYUXA
7,000,000& * 14! 7,000
405 TtabH S| 25,500 8,700 16,800
01 AL ESHSH 20,500 4,700 15,800
OZFH ¢ 1,500,000& * 10CH 15,000
O&9 & ofHOZE 7 500,000& * 5K 2,500
OgaHEE S/W+ 3,000,000& » 1K 3,000
02 =M=l 5,000 4,000 1,000
OEAM7Y 10,000& = 300& 3,000
ogaizg ¢ 2,000,000& * 14! 2,000
HaoW Z20Y 2I|(Hadsed) 124,000 124,000 0
201 Ler2 | 124,000 124,000 0
03 &AL2 I 124,000 124,000 0
OFAE T2 2PH(FAH D)
124,000,000 * 14 124,000
FAE2sE 29 179,533 114,539 64,994
101 124 dl 65,787 54,693 11,094
04 JIZtHNZ22HEE+ 65,787 54,693 11,094
O2dEx 15,837
cJIE= 42,0002 * 1H * 230 9,660
oFxsad 42,000% = 1% » 462 1,932
o AX & 42,0008 * 1" * 11 462
oAl 2tel=g
7,880 * 1H  40AI2t » 128 3,783
O&a= 17,949
=Jl2g 47,6002 * 18 * 230 10,948
oFsad 47,600 * 18 = 46 2,190
cHXtsg 47,6003 «1& » 11 524
o A2l =& 8,930 * 40AI2+ = 128 4,287
OxERE= 908
cNEEEE 17,949,000& = 1.95% 351
oMEE S 17,949,000& * 3.1% 557
O&EAYE XA 23,223
=lles 1,620,000& = 1% » 128 19,440
oAl2tel ¢
7,880 * 40AI2F » 1Y » 123 3,783
OAERES(FAY XA 2,269
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